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[#10]

[#11]

[#12]

[#13]

[#14]

[#15]

[#16]

-12

-11

-1

16

10

10

10

20 -7
12
11 -14
6 4
20 8
319
10 9
16 -18
1 15
6 6
314
18 -13
2 9
20 13
20 -14
6 5

11

-13

19

-15

-18

-10

18

-15

-19

-17

-19

-14

-14

-11

-18

18



https://www.beesmart.me/?pageid=lesson&c=1&l=1&t=1
https://www.beesmart.me/?pageid=lesson&c=1&l=1&t=1&game=1
https://www.beesmart.me
https://www.beesmart.me/?pageid=lesson&c=1&l=1&t=1

Wwww.beesmart.me

<
(o
=
(o
S
=
s
2
s @ .~ — |~ ~ —~ o~ —~ o~ ~
= @™ 0~ O~ OO~ O O~ OO 0
[ewy — 00 = 00 = — — N — N — N
& NASAINCAINSIIR A INS NSNS END S NSNS BN I A BN END S BN
[
b
@D
=
jcu — — —
= -8 = — — I —= S
) TSN 2930 7T KoK o= in
= L2 L E L L2l ECD
=
=
&
°G — — —~ —~ —~
e e e e TS ST S ===
i i ~— i i
we Llelolelelellleleleglelyi el
>
@
s&
= — — —| = —~| = = = ={P=
< o < ~ O O~ N~ 10 ~ < < = 0
W NN N N N N N N N NS N BN SN BN BN N
=3
@2
G
= — ~ Al ala —~| =~ =~ ~
- O ~ 10N O M~O WO ~ ~ 00 10O 0 ~
AN — = = N = = = «— O O = = N — O
N NP BN BN BN BNE P BN BN BN ENL P BN BN BN BN BN P BN
e L e R R RS R T RVG)
— N ) O 00Oy e e e e
R e I I e s e < e e e s e - <=~


https://www.beesmart.me

=]
rr

— — — — — — — — | — — — —/ — — — —/ — —/@ — — —

/| — — o/ /= /o e

S ey L S 'y v e o v ' B iy e B

[=1
[=]

W 1IeWSaa g MMM



https://www.beesmart.me/?pageid=lesson&c=1&l=1&t=2
https://www.beesmart.me/?pageid=lesson&c=1&l=1&t=2&game=1
https://www.beesmart.me
https://www.beesmart.me/?pageid=lesson&c=1&l=1&t=2
https://www.beesmart.me

wasuuuilnte senHadnsYeIsIuILiIUINLarSIuIuRNaU

4+ (-3) = 1

-1+ (1) =| -2

-8 + (-9) = 17

-9 +(-2) = 11

-7+ (+2) = -5

-5 + (+6) = 1

8-(-3) = 11

-8 - (+3) = -11

-3 +(-5) = -8

-7+ (-8) = -15 E

6 - (+8) = -2 E

1-(+9) = -8

5-(-5) = 10 .E

-5 - (+1) = -6 @y

5+ (-2) = 7 (D)

-3+ (+2) = -1 D

1+ (-7) - -6 )

4+ (-6) - | 4 3

2-(-7) = 9

-5 - (-6) =|1 g

1 - (+9) - 8 .
- (+5) =| -2 3

5-(+1) = 4 D

-9+ (+9) = 0

5-(-8) = 13

-9+ (-2) = -11

-8 - (+6) = -14

-3 +(-2) = -5

-2+ (+2) = 0

3-(-6) = 9
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[#10]

[#11]

[#12]

[#13]

[#14]

[#15]

[#16]

(-12) /7 (-3)

(-9) x (+1)

(-9) / (+9)

(+8) / (-8)

(+4) x (-7)

(+8) x (+2)

(-9) / (+9)

(-12) / (+3)

(-10) / (+5)

(-11) / (-11)

(+5) x (+7)

(-4) x (+2)

(+6) / (+6)

(-6) x (+5)

(+8) x (+4)

(+5) x (-5)

L
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1] (-12) _1a
(-3)
[#2] (-9) x (+1) = 9
3] -9) _ g
(+9)
(+8)
[(#4] = -1
(-8) E
[#5] X = 28 S
[#6] (+8) x (+2) = 16 E
[#7] il = 1 O
(+9) (D
(¢)]
W o ;
' 3
" (-10) 15 g
(+5) —+
P RS AR 3
(-11) (¢))
[#11] (+5) x (+7) = 35
[(#12] (-4) x (+2) = -8
[#13] &) =1
(+6)
[#14] (-6) x (+5) = -30
[#15] (+8) x (+4) = 32
(#16] (+5) x (-5) = -25
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[#1] (-5)/(-1) =
#2] (0)/(+22) =
[#3] (+3)/(-1) =
(#4] (-19) x (+1) =
[#5] (+3)/(-1) =
[#6] (0)/(+13) =
[#7] (+20) x (+1) =
(#8] (+18) x (+1) =
(#9] (0)/(-16) =
[#10] (0)/ (+81) =
[#11] (+2) x (+1) =
[(#12] (+7)x (+1) =
[#13] (0)/(-8) =
(#14] (0)/ (+59) =
[#15] (+18)/(-1) =

(#16] (-6)/ (-1) =

il

—

a

0
0
1
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[#10]

[#11]
[(#12]

[#13]

[(#14]

WaswUUHne 29 nadnsnalull

(+3)
-1
(-19) x (+1) =

)

(+20) x (+1) =
(+18) x (+1) =

-19

20
18

[#15]

[#16]
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Ix[(2)+ (D]

S5 x[(-4) +(-6) ]

4x[(-4)+ (1]

4x[(-8)+(7N]

Ax[E3)+ @]

2x[2)+9)]

S x[9)+(4)]

2x[(-3)+(3)]

L
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Ox[(-2)+ ()] = (-18) +(9) = -18+9 = -9
x[(-4)+(-6)] = (20) + (30) = 20+30 = 50
ax[(4)+(-1)] = (-16) + (-4) = -16-4 = -20
4><[() 71 = (32)+(-28) = -32-28 = -60
x[(-3)+(2)] = (3+(2) = 3-2 =1
x[(2)+(9)] = (4)+(18) = 4+18 = 22
x[(9)+(-4)] = (-45) + (20) = -45+20 = -25
2><[( 3)+(-3)] = (-6) +(-6) =|-6-6| |=]|-12
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| -8+ ([-3[)[x[2-([8)]-(3)=

[F1]+ (1) [ x[]2]-(-8)1-(l6]) =

6] + (7)x[9-(-9)]1+([1])=

|14+ (1) [ x[1-(-1)]1-(1)=

|8+ (-1 x[8-(|3])1-(]8)=

|9+ (]3[)[x[-1-(3)]-(5)=

6+ ([2)x[9-([5])1+([7]) =

[15]+(3) | x[-7-(]-8)]-(1)=
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1

[#1] -8+ (]3] [x[2-([8[)1-(3)= [#7] -6+ ([2])x[9-
|-8+(3)[x[2-®)]-(3)= 6+ (2)x[9-(5)] +(
|-8+(3)|x6-3= 6+(2)x(4)+(7)=
5x-6-3= 6+(8)+(7)=
-30-3 = 9
-33 [#8] |15+ (3) | xI

[#2] |+ 1) [xC]2l-(-8)1-(l6]) = |5+(3)|x[7-@8)-
[1+(1)[x[2-(8)]-(6)= |5+(3)|x-15-1=
[1+(1)]x10-6= 8x-15-1=
2x10-6= -120-1 =
20-6 = -121
14

[#3] 16| +(7)x[9-(-9)1+([1])=

(#4]

[#5]

[#6]

LRASLUUANTR JIHARNG +,-,* S1UIULAL

6+(7)xP9-(9+(1)=

6+(7)x(18)+(1)=
+(126)+(1)=

133

[-a]+ (1) | x[1-(-1)1-(1) =
[4+(1)|x[1-CD1-(1)=
[4+(1)|x2-1=
5x2-1=
10-1=
9

[8+ ([-1]) [ x[8-(|3])1-(|8])=
[8+(1)|xI[8-(3)]-(8)=
|8+(1)|x5-8=
9x5-8=
45 -8 =
37

[9+(]-3])|x[-1-(3)]-(5)=
[9+(3)|x[-1-(3)]-(5)=
[9+(3)|x-4-5=
12x-4-5=
-48 -5 =
=53

(150)1+
7)=

(1)=

()=

-8 1-(1

)
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[#10]

[#11]

[#12]

[#13]

[#14]

[#15]

[#16]

14

13

-13

18

-19

-11

-12

-17

-10

16

-11

20

14

16

-19

16

13

10

-13

-11

-18

14

-15

-19

20

-13

10

113

20

-15

-10

12

18

17

15

14

-18

-18

-17

-12

-20

-13

-18

14

18

13

15

10
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2+ (+8) = 10

-8 + (+2) = -6

4+ (+1) = 5

9+ (+2) =| -7

-7-(-2) = 5

8 + (+4) = 12

-5 -(-3) = 2

-7 -(+8) = -15

-6 - (-6) = 0

1+ (+3) = E
2+ (+2) - 4 S
3-(-9) = 12

-7+ (+2) = -5 .E
-2 + (+8) =6 (@)
4 + (+8) = 12 (D)
1-(+5) - 6 D
6-(+2) - 8 n
1-(+6) = -5 3
7+ (-8) = -1

4- (1) - 3 2
4+ (+2) = 6 :_'-
-1+ (-8) = 9 3
9+ (-1) = 8 CD
7-(-8) = 15

6 + (+9) = 15

-5+ (+2) = 3

9 + (+5) = 14

-7+ (+3) = 4

-4 + (-8) = 12

6 - (+4) = 2
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[#1] (-9)/(-3)

1l

[#2] (-8)/ (-4)

L

[#3] (-10)/ (+10) =

[#4] (9)x(+8) =

[#5] (-12)/(4) =

[#6] N/ =

[#7] (+6) x (-9) =

[#8] +4)/ (+2) =

+11)/(11) =

[#10] 12)/(-3) =

[#11] (-6) x (+7) =

www.beesmart.me

[#12] (2)/(+2) =

[#13] +6)/ (+3) =

[#14] B)x+7) =

[#15] +9)/(9) =

[#16] (-6)/ (+3) =

9P o
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o [#14] (Bx(7) = -2
Ll Hes) =13 (+9)
-3) [#15] i = -1
(-9)
(-8)
[#2] —_— = 2
-4) [#16] 6 - 2
(+3)
3] (-10) 1
(+10)
(#4] (-9) x (+8) = 72 é
(-12)
[#5] —— = |3
(-4) E
(@)
[#6] (+7) _ 1 m
N D
[#7] (+6) x (-9) = 54 (0))
(+4) 3
[#8 = |2
] (+2) g
—
(+11) -
#9 = -1
izl (-11) 3
(¢))
[#10] A2 )
(-3)
[#11] (-6) x (+7) = -42
[#12] 2) = -1
(+2)
[#13] &) -2
(+3)
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#1] (+1)/(-1) =

—

[#2] (-6) x (+1) =

=3
=0
=0
= |

[#3] (-20) / (+1) =

[#4] (D x (1) =

[#5] (0)/ (+58) =

[#6] (+2)/(-1) =

#7] (0)/(-11) =

[#8] (+20) x (+1) =

(#9] (+17)/(-1) =

[#10] (-4)/ (+1) =

[#11] (-17) x (+1) =

www.beesmart.me

#12] (+11)/ (+1) =

[#13] (-18)/ (-1) =

#14] (-5)/ (+1) =

[#15] (+6) x (+1) =

(#16] (0)/ (+40) =

9P o
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(+1) [#15] (+6)x (+1) = 6
.t = )
(1) e 1
[#2] (-6) x (+1) = -6 (+40)
i 20 o
(+1)
[#4] (DxH*1) = -1
= <(2)s> Sk é
+
a «2) E
1) o
(D
[47] O i
(-11) o
(#8] (+20) x (+1) = 20 3
[49] (+17) e g
C) =
(-4) 3
#10 - a
o) (+1) CD
[#11] (17 x (#1) = -17
[#12] (+11) i
(+1)
[#13] ﬂ: 18
(-1)
™ )
(+1)
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3x[(1)+(-3)]

Tx[(9)+(6)]

-6 x[(-5)+(9)]

8x[(-5+ ()]

7x[(2)+(8)]

Tx () +(-4)]

8x[(M)+(-2)]

4x[(-8) +(8)]

L
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x [(1) +(-3)] = (3)+(9) = 3-9 = -6
X [(9) +(6)] = (-63) + (-42) = -63-42 = -105
x[(-5) +(9)] = (30) + (-54) = 30-54 = -24

8x[(-5+ ()] = (-40) + (40) = -40+40 = O

x[(2) +(8)] = (14) + (56) = 14+56 = 70
x[(7)+(-4)] = (-49) + (28) = 49 +28 = -21
x[(7)+(-2)] = (56) + (-16) = 56-16 = 40

4x[(-8)+(8)] = (-32) + (32) = -32+32 =0
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[#4]

[#7]

[#8]

54 (9 x[-1-(-8)1+(}7]) =

13| + (151 ) x L8] -(|-2[)1+(6]) =

1]+ (5)x[7-(-3)]+([8])=

6] + (-6 x [-5] - (9]) 1+ (]-5]) =

|-7+(6)[x[|-8-(-1)]-(4)=

5]+ (-8)x[2-(]5])]+(-7) =

||7]+ (1) | x[-8-(5)]-([1]) =

6+ (15)x[4-()21)]1+(-4)=



https://www.beesmart.me/?pageid=lesson&c=1&l=1&t=6
https://www.beesmart.me/?pageid=lesson&c=1&l=1&t=6&game=1
https://www.beesmart.me
https://www.beesmart.me/?pageid=lesson&c=1&l=1&t=6
https://www.beesmart.me

1

LRASLUUANTR JIHARNG +,-,* S1UIULAL

#1] -5+ (]9 )x[-1-(-8)1+(]7])= (#8] -6+ ([5])x[4-(|21)]1+(-4)=
S+ (9)x[1-(8]+(7)= 6+ (5)x[@A-2]+(-4)=
S5+(9)x(7)+(7)= 6+(5)x(2)+(-4)=
S5+(63)+(7)= 6+(10)+(-4)=
65 0

H21 131+ (151 x L8] - (-2 1+ (6] ) =
3+(5)x[B-(@21+(6)=
3+(5)x(6)+(6)=
3+(30)+(6)=
39

#3] |1 +(5)x[7-(-3)1+(|8)=
T+(5)x[7-(3]+(8)=
1+(5)x(10)+(8)=
1+(50)+(8)=
59

(#4] 16| + (-6 )x[|-5]-C[9])1+(|-5]) =
6+(-6)x[B-9+(5)=
6+(-6)x(-4)+(5)=
6+(24)+(5)=
35

#5] |-7+(6)|x[]-8-(-1)]-(4)=
[-7+(6)|x[8-(-1]-(4)=
[-7+(6)]|x9-4=
1x9-4=
9-4-=
5

[#6] |5+ (-8)x[2-([5)]1+(-7)=
5+(-8)x[2-GN+(-7)=
5+4(-8)x(-3)+(-7)=
5+(24)+(-7)=
22

7+ (1) [ x[-8-(5)1-(]-1]) =
[7+(1)|x[-8-(B)]-(1)=
|7+(1)]x-13-1=
8x-13-1=
-104 -1 =
-105
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